
30− 20− 10− 0 10 20 30
Acc0/NAcc0

0

50

100

150

200

250

300

3
10×

Run 4466 mpswise, acc0: All

Entries: 1442427

Mean: 9.6774 +/- 0.0022

Std Dev: 2.6775 +/- 0.0016

Run 4466 mpswise, acc0: All
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Run 4466 mpswise, acc0: Beam OFF

Entries: 71444

Mean: 0.5907 +/- 0.0015

Std Dev: 0.4035 +/- 0.0011

Run 4466 mpswise, acc0: Beam OFF
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Run 4466 mpswise, acc0: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 440924

Mean: 11.2262 +/- 0.0010

Std Dev: 0.6775 +/- 0.0007

Entries: 440930

Mean: 11.2601 +/- 0.0010

Std Dev: 0.6767 +/- 0.0007

Run 4466 mpswise, acc0: Beam ON, Laser ON
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Run 4466 mpswise, acc0: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 225871

Mean: 8.4018 +/- 0.0013

Std Dev: 0.6292 +/- 0.0009

Entries: 225922

Mean: 8.4411 +/- 0.0013

Std Dev: 0.6316 +/- 0.0009

Run 4466 mpswise, acc0: Beam ON, Laser OFF
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